COMPATIBLE FRAME COMPONENTS See website for addifional inserts.
6/4 TITANIUM |17/4 STAINLESS DESCRIPTION Inserts and frame components
sold separately.
DS0030BD DS1030BD No Eyelets, Belt Drive
DS0030 DS1030 No Eyelets -
DS0035 DS1035 Eyelets
DS0035BD DS1035BD Eyelets, Belt Drive
DS00%0 DS1090 Full Thickness, No Eyelets
DS0091 DS1091 Full Thickness, Eyelets
ITEM NO. PART NO. EXPLODED VIEW
1 MS1016 Pin
2 MS1014 M8 Washer, Stainless Steel
3 MS2015 M8 x 1.25 x 16 BHCS, Zinc Plated Steel
DR4017 (Bare)
4 B4017 (Black) |Rehloff
5 DS0035 6/4 Titanium Frame Component, Eyelets [ |
S I S C Y oTle
[.157in] 8mm
4mm A_F
Eyelets
N 44.00° M5 Threaded ||
1 (|
= ]['5655“} | [3.2-3.9in] —
256] o ~—7in adjustment PARAGON MACHINE WORKS
mm 81.6-99mm
TITLE:
NAME = DATE .
e on 110018 LETT Side Insert, Rocker,
PROPRIETARY AND CHECKED BY: = MCN 11/2018 ROthff, ] O mm HUb
CONFIDENTIAL MATERIAL:
TR reor | KR 3OO o e N
PRECOMAINERGRGRITL T 300+ 0010 A DR4017 Al
WITHOUT THE WRITTEN PERMISSION OF -
PARAGON MACHINE WORKS IS PROHIBITED. SCALE ]5 SHEET .| OF .l



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


